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j\/l—xzdxf“ x=sin0 L3< & dx=cosOdd j\/l—xzdxzjcosz&z’e:%j(l+c0529)d9

Zl(9+lsin29) =l(sin*1x+x\/1—x2)
2 2 2
2J‘xsin*1 xdx = x* sin”'x + xvJ1-x° —%(sin1 x+l-x)=(x’ —%)sinlx +%x\/1 —x’
1E-> T jxsin_1 xdx = :%{(sz —1)sin~'x + xy/1-x7 }

400. J‘xcos‘1 xdx = jx(xcos‘lx—\ll —x%)dx =x*cos'x —xy1-x? —j(xcos‘lx—\ll—x2 Ydx
399. &[RERICLT lel—xzd = —%(cos1 x—xy1-x%) (cf. 391.)
2J‘xcos71 xdx = x> cos'x — x/1 - x? —%(cos1 x—xyl-x7)=(x" —%)coslx —%xxll —x°

HE-T jxcos‘l xdx = %{(sz ~lycos 'x—xv1-x" |
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401. J‘xtan*1 xdx = jx{x tan ' x —%log(l +x7) Jdx
=x’tan"' x —%xlog(l +x%) —j{xtanflx —%log(l +x*)jdx  (cf. 392.)
B LT ZIxtan*dex =x"tan"' x —%xlog(l +x%) + %jlog(l +x7)dx

jlog(1+x2)dm l+x2 =t B E2xde=dt x=+t—1

jlog(1+x2)dx=j;(:/gtﬂ [(e=1y logtdt—\/tTlogt—j—dt

Wio Ni—l=ulBE t=u>+1 dt =2udu

'[ tt_l = 21 l)du=2(u—tan‘1u)zz(ﬂlt_l_tan—l\/tj)
+

=2(x—tan™" x) ¥7- t—llogt=xlog(x* +1)
-1 2 -1 1 2 1 -1 1 2
2Ixtan xdx = x" tan x—leog(1+x )—5°2(x—tan x)+5xlog(1+x )

N g /N J‘xtan‘l xd ::%{(x2+l)tan1x—x}

sin”! x 1 1
409. dx=|(—— )sm xdx———sm X+ v (sin”'x) =
J- x? '[ '[x\II x? 1—x?
B2ET x=sin0 &35& dx=cos0df
cosBdo 0 0
2= = ——l tan — (z=tan—)
J‘sin@cos9 J‘sm@ z o8 2 z 2
= '25“1(6/2)“5(29/2) = 2tan(29/2) g tandironciEm L
sin“(0/2)+cos“(0/2) 1+tan”(0/2) 2
142
xtanzg—2tan%+x:0 tan%zu TROBEOEENSGE SO (—) PEdT 5,
X
_ _ 2 s —1
Shme  hat= log YL X) S X
X
i .2 | , _ P
WE (4) {10g(1+ 1-x )_sm X } _ 2 +sm2x (i)
X X xv1-x° X
Y —sin” x
. 1-41-x"_ sin”'x \/1 x 1 1=
we (=) { log( )— } = o .
X X 1-1-x2 x
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1 1 1 1 sin'x  sin”'x

S S N + - (5)
xWl=-x> X X xyl-x° x* x* B
410. jtan xd j(— =)' tan™" xdx = —ltan x+j— v (tan”' x) = !
x(1+x%) . 1+x°
:—ltan*1x+j(l— )dx——ltan x+10gx—llog(l+x )
X x 1+x° X 2
) ILZ T x=tanf & L Tdx= d? j dxz = logsin @
x(I+x7) cos” 60 x(I+x7)
N S S TR 11 P
= 2 = H F Do
1-sin’ @ V1+x?
(Na® —x2, Vx> ta® # &0
t*+a’ t +a’ a* a* 1 ¢
126. [Vx**a’dx= =—|(tx +—)dt = —(———*2a’ logt
j J- 2t 2t° I( t3) 4(2 gl
2 2 2, 2 24 2
(x+Vx*+a> =t LB L xzt 2ta dx=t2+2a dt Jx*+a’ :t—xzt ;ta )
t

a’ a’ at(x—+vx*+a*)’ o (x= x*+a*)’

_g__ég(x+\/x2iaz)2 o S{XZ—(xziaz)} o 8
> a __(x+\/x2iaz)2 _()c—\lxzicf)2 _)cxlxzia2

8 8 8 8 a 2

LT j\/xziazdxzé{xxlxziaziazlog(x+\/x2ia2)}

127. j\/az—xdeZIGCOSZQdQ ( x=asinf <& dx=acosbdb)

2 2
=J-\/a2—x2dx:.|.a cos 0d0——j(1+cos20)d0——(0+—s1n20)— 5 sin 1£+a7$in000s0

a

Z%az(x\/a2 I | (x=asin@ 75 acos@ =+a>—a’sin>0 =va’ —x*)
a

2 2

2 2
128. J.L (x+Vx*+a> =t LB L x:t a dx:t +a dt x2+a2=t +a )

:J‘% =logt =log(x +vVx* +a’)

a9 :—logtang (x=—2 rpir dx——M)

I dx :_J. _
Jx? —a? sin 6 2 sin sin” @
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130.

135.

136.

138.

_ a(sin®(0/2) + cos’(0/2)) _ a(l+tan’(6/2))

atan2§—2xtan§+a =0

2sin(0/2)cos(0/2)  2tan(6/2)
22
tangzu Z CHAE B ;%iftf“%éﬁ>%—logtang>0
2 a x2 = g2 2

2 2
X —da . a

—log(— %
R S

e~ T O<tan§<1 THEZD (=) b %‘Lit:—log(x_

= log{a-

2 2 2_q?
a

x?—(x*—a%)

=log(x+Vx>—a’)

EHIA —loga ZFRWT

j dx

:—jd@:—@:—cos*‘f (x=acosf L3< & dx=—asin6do)
a

dx
[
:de:Q:sin’li (x=asin® L3< L dv=acos6dd)
a

z‘Z—a2 t +a

j_ [ t+a2’ dt =~ j(l——)dt——(t+—)

2t

{x+\/x +a’ —(xFVx*+a’)}=tJx? +a’ (128. L [Al U & #ix CEIA)

I xdx :_aJ~ 'd? dezac':OSQ (x= ‘a Lk dx:_a'cozsé?dg)
Jxt—a? sin” 0 sin@ sinf sin” 0
2 2 2 2
x*—a’ (sinf=2 prx cosG:\/x 2a :\/x 4
X X X

ijaz—xzdx:a3jsin000529d0 ( x=asinf £B< & dx=acos0dO)

3
= a3jsm0(1 —sin> 0)d0 = —a’ cosO —%j@sme —sin36)d6

3 3 3 2

=—a—cos0—a—(4cos30—30050):—a—cos30 Xt =a*(1-cos’ @) 7i cosf="L X
4 12 3 a
1> T J.x\/az—xzdx: “(a —x ,/
1) G
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